Unit 3 Lecture 1 Slide 46


To determine the optionality between relationships, we can follow a process similar to that of determining the relationship names.  In this case we can use the most appropriate of the patterns shown below


Entity-A must be relationship-name entity-B

Or 


Entity-A may be relationship-name entity B.

Then we repeat this process in the opposite direction.  That is, from entity-B to entity-A. 


For space reasons these two cases are combined in a single pattern.

In general is good practice to ask these questions using a negative.  The next slide should clarify this.

